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ROUND1-G1
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 |VERE S (T 7be) TUE 17.08 17.14 24. 22
2 |PEEE EA (BEIE R -AF) I uEA 16.80 17.08 23. 88
3 [EiE =6 (FLSZHITHG 1.36) NI ay 15.82 6.60 22. 42
4 |F9k feE (B E5) TN T 7 15.82 6.60 22. 42
5 |BE e (B AAMZE) TN T T 15.68 6.54 22. 22
6 |5 B (B SZT3Em) TN T T 15.54 6.54 22. 08
T O|RIE B4R O\EEH) T IEA 15.40 6.54 21.94
8 AT HEE OKFF) =—/31 7R 13.72 5.94 19. 66
ROUND1-G2
NEAE 4 Hi il ¥4 TEC _ ATH Total
1 [ R (A AAL2E) TE 17.50 7.44 24. 94
2 |tk B (FHINTF) TNV T 7 17.08 7.44 24. 52
3 |FHE w3k (B EX) TN Ty 16.80 7.20 24. 00
4 | E O\EZFH) NI IHEA 16.10 6.84 22. 94
5 [FA fHE (e WRF P A =2 ) TN Ty 15.82 6.54 22. 36
6 |'FEF RAY (BEIA~F-RE) NI UEA 15.68 6.60 22. 28
7 [EEm OKF#+) D 14.28 6.06 20. 34
8 et =& CEFIRZ2 ) = 12.60 5.52 18. 12
ROUND1-G3
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
L [*FE & O\EZEH) T IEA 16.24 6.90 23. 14
2 |EH & (FLSZHITHG 1.26) T I ay 15.96 6.90 22. 86
3 laenm mew (5 E ) = 15.96 6.84 22. 80
4 |RERS W (24 =7e) =—/31 7R 15.54 6.48 22. 02
5 |H&h EHE (BZE 7 e) TN T T 15.12 6.54 21. 66
6 | KEF  EhX (F5HH\TFAR) J =Y — 15.12 6.24 21. 36
7 (M B (BT #be) =—/3A K 14.56 6. 24 20. 80
8 |&EH  EH OKF ) T IEA 13.58 b5.64 19. 22
ROUND1-G4
JEAE 4 Hi il ¥4 TEC  ATH Total
1 [k A (B Al ) NI UEA 16.80 17.08 23. 88
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2 | AREE ek (PRI FALIE) == R 16.66 17.02 23. 68
3 (TR A (A AAL2E) =— /31K 16.52 6.96 23. 48
4 |[fEH & O\EFH) NI Uvay 16.24 6.96 23. 20
5 [FrR fEE (B E28) == R 15.40 6. 42 21.82
6 IR AR (W SZRTRG P 26D =—/3A K 14.98 6.24 21.22
7T (EE Ef (Rt —) vy EA 14.14 6.12 20. 26
8 |k HE (I N7 ELp%) =— /31K 14.00 5.88 19. 88
ROUND2-G1
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 [FiE fEF (B E5) NR—TF =L 17.64 7.44 25. 08
2 |FHENE w3 (B E5) R—TF—L 17.36 17.26 24. 62
3 |k EaO (F5HH\TFAR) A== A 16.66 17.02 23. 68
4 WeRgE sE (BT 7o) Uy A 16.52 6.90 23. 42
5 |P9EE EAH (BEIE R AF) ARy gy 16.38 6.96 23. 34
6 |JEER BT O\EZEH) Va2 yvRvay 15.96 6.72 22. 68
TR EESE (B &AL %) ARy gy 15.82 6.84 22. 66
8 |HfE 0o (BSZAIE L3) S ER AR 15.82 6.60 22. 42
ROUND2-G2
NEAE 4 Hi il ¥4 TEC _ ATH Total
1 (bR e (B E28) Fx X YT =Y —|[17.64 1.26 24. 90
2 |kE #&H (BEIA~-AE) A 17.08 7.14 24. 22
3 (Tt A (A AfL2E) Fy B YT —Hr 7 —|[16.80 7.26 24. 06
4 |iEH Fz (WS AIHE T36) V2R ay 16.38 6.66 23. 04
5 |tEHE  HE O\EZFRH) S YR 16.10 6.90 23. 00
6 | ARHEE ek (FRAE R L) Fy B YT —H 7 —|[16.24 6.66 22.90
[ S O\EZFRH) A 15.68 6.66 22. 34
8 |BAAy  HHZE (HBLBe) Fy B YT —H 7 —|[15.40 6.60 22. 00
BRONZE-GT
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
JR (5 o 8 (B &AL %) R—TF =L 17.22 17.32 24. 54
2 |FHENE mK (B E%) A=Y g 17.22 17.14 24. 36

BRONZE-G2
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JEfL 4 Hi B ¥4 TEC  ATH Total

1|k &b (FHINTR) T—F 17.36 7.20 24. 56

2 |k®E A (B Al ) N 16.80 7.20 24. 00
GOLD MATCH

NEAE 4 Hi i ¥4 TEC __ ATH Total

1 |dem #ok (B E54) R=T =1 17.50 17.56 25. 06

2 |F9k fbE (B E%) A=) A 17.08 17.32 24. 40




